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61 348 Service Operations Management
Final Exam Answer Sheet
Question 01:

Higuain is the Rooms Division Manager of Boca Juniors Holiday village. One of his duties is to determine the standard time required to handle the different jobs in his division. In this sense, Mr. Higuain decided to start with “Posting” job. He decomposed this very job into 3 different components namely A, B & C Later, he took a sample of A/R clerks and observed the average time taken by this very group on each of the above sub-task components. He repeated this 4 times. Lastly, he obtained the following averages (in minutes): 

	Component 
	Observation 1
	Observation 2
	Observation 3
	Observation 4

	A
	2.35
	2.45
	2.50
	2.40

	B
	3.12
	3.09
	3.15
	3.20

	C
	1.95
	1.90
	2.03
	2.05


a) On the same line chart, have Observations (i.e. 1, 2, 3 & 4) on the x-axis and their respective values on the y-axis for all 3 components (2 Points)
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b) Calculate the average times (in minutes) taken for A/R clerks to handle each of the subtasks. (1 Point)

· Average Time (Component A) = (2.35 + 2.45 + 2.50 + 2.40) / 4 = 2.43 Minutes
· Average Time (Component B) = (3.12 + 3.09 + 3.15 + 3.20) / 4 = 3.14 Minutes
· Average Time (Component C) = (1.95 + 1.90 + 2.03 + 2.05) / 4 = 1.98 Minutes
Suppose that the multipliers (M) of these components are as follows:

	Component 
	Multiplier

	A
	1.20

	B
	1.10

	C
	1.15


c) Calculate the normal time taken for A/R clerks to post guest charges. (1 Point)

· Normal Time = (2.43 * 1.20) + (3.14 * 1.10) + (1.98 * 1.15) = 8.64 Minutes
d) Suppose the posting job allowance is 6 %, could you calculate the standard time? (1 Point)

Standard Time = 8.64 / (1 – 0.06) = 9.20 Minutes
N.B.: All your answers shall be rounded to the nearest cent

Question 02:

Suppose Hillside Hotel planned to achieve $ 1,560,000 room revenue for year 2007. By the end of that very year, the actual room revenue turned out to be $ 1,750,000. Could you help Hillside Hotel’s management come up with Room Revenue Effectiveness Percentage? Interpret your result. (2 Points)
· Room Revenue Effectiveness Percentage = ($ 1,750,000 / $ 1,560,000) * 100 % = 112.18 %
Interpretation: Hillside Hotel had a target Room Revenue of $ 1,560,000 for the year 2007. The actual Room Revenue turned out to be $ 1,750,000. Therefore, the hotel has managed to achieve 112.18 % of its target (i.e. Hotel was 112.18 % effective in achieving the Room Revenue objective.)
Question 03:

The Total Fixed Cost of Yıldız Resort Hotel in 2007 was $ 3,400,000, 8 % of which estimated to concern JSK Restaurant. If the restaurant made a net income of $ 1,049,980 in 2007, how many customers the restaurant would have served this year. Assume that the Average Check was $ 25 and the Operating Cost, including F&B expenses, was $ 14 per customer. (4 Points)

· Total Fixed Cost Allocated to JSK Restaurant = $ 3,400,000 * 0.08 = $ 272,000
Let χ denote the total customers served at JSK Restaurant in 2007. Therefore,

· 2007 Total Cost = 14 * χ + 272,000

· 2007 Total Revenue = 25 * χ

· 2007 Profit = $ 1,049,980 = 25 * χ – (14 * χ + 272,000) ( 1,049,980 = 11 * χ - 272,000 ( 1,049,980 + 272,000 = 11 * χ ( 1,322,008 = 11 * χ ( χ = 1,321,980 / 11 = 120,180 Customers
If the restaurant has 75 usable seats, and open 365 days in 2007, what is the 2007 Seat Turnover Rate? (2 Points)

· Seat Turnover Rate = 120,180 / (365 * 75) = 4.39
Question 04:

Serenity Hotel’s Historical Operating Expenses & allocated Fixed Costs to the Rooms Division Department are depicted in the following table:

	Expense Items
	2005
	% Rev.
	2006
	% Rev.
	2007
	% Rev.
	2008
	% Rev.

	
	
	
	
	
	
	
	
	

	Wage / Benefits
	$520,000
	7.16%
	$535,000
	6.91%
	$547,000
	6.73%
	$557,148
	6.60%

	Laundry / Linen
	$47,500
	0.65%
	$48,750
	0.63%
	$49,560
	0.61%
	$50,474
	0.60%

	Materials
	$62,500
	0.86%
	$63,050
	0.81%
	$63,580
	0.78%
	$63,849
	0.76%

	Frills
	$15,600
	0.21%
	$16,380
	0.21%
	$16,500
	0.20%
	$16,627
	0.20%

	
	
	
	
	
	
	
	
	

	Total Oper. Cost
	$645,600
	8.89%
	$663,180
	8.57%
	$676,640
	8.33%
	$688,098
	8.15%

	Allcted. Fix. Cost
	$1,650,000
	22.73%
	$1,623,000
	20.97%
	$1,750,000
	21.54%
	$1,787,877
	21.16%

	
	
	
	
	
	
	
	
	

	Room Revenue
	$7,260,000
	100%
	$7,740,000
	100%
	$8,125,000
	100.00%
	$8,447,687
	100%


If 2007 forecasted figures were as follows:

	Expense Items
	2007 (Forecasted)
	2007 (Actual)
	Difference
	Difference (%)

	
	
	
	
	

	Wage / Benefits
	$560,000
	$547,000
	-$13,000
	-2.32%

	Laundry / Linen
	$48,600
	$49,560
	$960
	1.98%

	Materials
	$66,450
	$63,580
	-$2,870
	-4.32%

	Frills
	$18,000
	$16,500
	-$1,500
	-8.33%

	
	 
	
	 
	 

	Total Oper. Cost
	$693,050
	$676,640
	-$16,410
	-2.37%

	Allcted. Fix. Cost
	$1,735,000
	$1,750,000
	$15,000
	0.86%

	
	 
	
	 
	 

	Room Revenue
	$8,410,000
	$8,125,000
	-$285,000
	-3.39%


Could you fill the above Variance Analysis Table? (3 Points)

 Using the percentage growth method:

1. Determine the 2008 standards for the operating expense items in the last column. (6 Points)

( Look at the above table.

2. Estimate the 2008 Room Revenue. (2 Points)

( Look at the above table.

3. Estimate the 2008 expense items and the total operating expenses (3 Points)

( Look at the above table.

4. Determine the 2008 allocation % to the Rooms Division Department (2 Points)
( Look at the above table.

5. Suppose that Serenity Hotel’s Rooms Division manager desires to achieve a Net Profit of $ 2,500,000 in year 2008. The forecasted 2008 room demand (measured in room nights) is 215,000. If the 2008 excepted Average Room Cost (MRC) is $ 18, what is the Expected Average Room Rate (ADR)? ( Consider in your calculations the estimated allocated fixed cost found in the previous question! (3 Points)

Let χ denote the Expected Average Room Rate (ADR), therefore,

215,000 = (Expected Portion of Fixed Cost allocated to the Rooms Division Department + Desired Net Profit) / (χ - MRC) ( 215,000 = (1,787,877 + 2,500,000) / (χ - 18) ( χ – 18 = 4,287,877 / 215,000 ( χ - 18 = 19.94 ( χ = $ 37.94
6. If the Total Cost Function for the Rooms Division Departmnent is represented by Y = - 0.002 * χ2 + 450 * χ + 790, what would be the expected Cost per Room Night if demand is at 215,000 room nights. (2 Points)

· Total Cost (215,000) = - 0.002 * (215,000)2 + 450 * 215,000 + 790 = $ 4,300,790
· Expected Cost per Room Night = 4,300,790 / 215,000 ≈ $ 20 

7. If YMax. = -b / 2 * a, what would be the Average Total Room Cost? (2 Points)

· Total Demand Average corresponding to Maximum Total Cost = - 450 / (2 * - 0.002) =  112,500 Room Nights
· Maximum Total Cost (112,500) = - 0.002 * (112,500)2 + 450 * 112,500 + 790 = $ 25,313,290
· Average Total Room Cost = $ 25,313,290 / 112,500 ≈ $ 225.01
8. Consider the answer found from question 5). Suppose, furthermore, that management decided to apply a 30 %  discount on room prices. Could you come up with the expected average room price in year 2008. (2 Points)

· If an average discount of 30 % is to be offered in year 2008, then the expected Average Room Price = $ 37.94 / (1 – 0.30) = $ 54.21
Question # 05:

The table below shows Ibrahimoviç Hotel’s historical demand for Single rooms measured in room nights.

	Year
	Single Demand
	Triple Moving Average

	1995
	43,230
	-----------

	1996
	44,610
	----------

	1997
	45,220
	44,353.33

	1998
	45,350
	45,060.00

	1999
	45,830
	45,466.67

	2000
	46,020
	45,733.33

	2001
	46,810
	46,220.00

	2002
	47,250
	46,693.33

	2003
	47,500
	47,186.67

	2004
	48,390
	47,713.33

	2005
	49,200
	48,363.33

	2006
	50,470
	49,353.33

	2007
	51,040
	50,236.67

	2008
	51,017
	50,842


a) Forecast Single demand for the 2008 using Triple Moving Average Growth Method. (2 Points)

· Total change in Triple Moving Average Column = (50,236.67 – 44,353.33) / 44,353.33 * 100 = 13.26 %

· Period’s change in Triple Moving Average Column = 13.26 % / 11 = 1.21 %

· Forecasted 2006 – 2007 - 2008 Triple Moving Average = 50,236.67 * (1 + 1.21 %) = 50,842.461 Room Nights

· Forecasted Year 7 Single Demand = (50,846.461 * 3) – (50,470 + 51,040) ≈ 51,017 Room Nights
b) Suppose the forecasted figure tells you that, the demand for Single room nights is exceeding the capacity, particularily during the high season. That’s why, management decided to build another 20 Single rooms at a cost of $ 35,000 per room. If Management wishes to recover the initial capital investment (I) of building the 20 rooms in 5 years, determine whether the project would be feasable or not. (5 Points)

The table below depicts the expected room occupancy in room nights and the Net Profit to be realized per new Single room for the next 7 years. The table also gives you the Present Value of every dollar [PV = 1 / (1 + r)n] at an average discount rate of 5 % (r) annulaly. (n here denotes time in years!)

	Year
	1
	2
	3
	4
	5

	Extra Room Nights
	4,380
	4,599
	4,829
	5,070
	5,325

	Net Profit / Room Sold
	$20
	$25
	$30
	$35
	$40

	Cash Flow
	$87,600
	$114,975
	$144,870
	$177,450
	$213,000

	PV of $ 1
	0.9524
	0.9070
	0.8638
	0.8227
	0.7835

	Discounted CF
	$83,428.57
	$104,285.71
	$125,144.15
	$145,988.55
	$166,891.07


· Initial Investment = 20 * 35,000 = $ 700,000

· Total Discounted Cash Flow (From above table) = $ 625,738.07

· Since Total Discounted Cash Flows < Initial Investment, therefore, this very project is not feasable.
